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14 %1 14
1) Answer all the 14 questions, i) Choose the mmost suitable answel fromm the glven
four alternatives and write the option code,
A= {abp), B= {23} (Pt tys) then afC L)X a) s ) 20 ) 12 i) 16

f(x) = (¢ 4 1)« (= 1) raprosents a function which is

a) Lineai b) Cuibile ¢) Haciproeal ) Quadlath
The sum of the axponents of the prime factors bs the priime factorization of 1729 I8
a) 1 hy 2 c) i)

If tha sequance t,, L, t,; o ara In AP then the sequence L, Uy, Ly o 15
a) Goomelric progrosalon 1) an Arithimetie Progression

¢) naither an AP nor a G, P )y A conutant soquerica

J’J | l,- I5 not equal to a) ¥ ‘ l h) [ oy {] ) [ y ‘.! b ‘ i l" '! "

y "

|
) a) 4 ) 3 ) ) ety 1 I

i of Sk B (6) then % 1s ) ’ , ’ ‘;:.‘ g
\

In the figure 11 PR S tangent Lo the circle ot Pand © ( a \\)

15 the centre of the clicle, then /MO0 16 \

a) 120v h) 100" g 110 oy von 9

The slope of the line joining (12,9) and (4, a) I 178, The valte of o' s

a) l b) A4 c)=5 ty 2

(2,1) Is the point of Intersection of twa lines— a) % -y - 3 = 0, Doy ] =0
b)x +y 1,3 4+ym7 €)Yy L X4 ys7 Yy by = K-y=?=(
acolt 04 b cosec P and beot O 4 a conec G ( then p’ - qf s aual to

a) a’ - b? ) 3% fH? ¢) 6’ + b dyb-n
The ratlo of the volumaes of a cylinder, o cone and a sphare, 10 aach has the saine ilametar
and same helght 1s &)1h 2 %93 l5Y e 18D -y b A dyF 1 1 i

When Karuna divided surface area of a spheta by the sphere’s volume, he gol (e answen
as 1/3, what s the radius of the sphoref

a) 24 cm b) 9 cm ; €) bl em ) A5 cm

The mean of 100 observations is 40 and their standard deviation b 3, The sum ol souares
of all observations s a) 40000 b) 160900 «) 160000 () 10000

The probability of getting a job for a person b4 %/, 11 the probability of not getting the job
15 2/3 then the value of x |4 n) 2 h) I c) 3 ) 1.8

Answer any 10 questions, Q.No, 28 is compulsory., 10X 2= 20

IfA={1,3,5Yand B = {2,3) the ) find AXD 1) find B X A,
I (%) = %7 = 1, g(x) = x = 2 Mind a, If gol(a) iy

Find the number of terms In the AP 3,6,9, 12, 111,
If the first term of an infinite G 1s 8 and (s sum to infinity 15 12/ 3 then find the common
ratio. ;
144 ¥ 12 16
Find the square tool of o e g A
; Bl g 0

5 =4
Verlfy that A7 = I when A [(, ,J.

o
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State Ceva’s theorem,

Show that the straight lines x - 2y + 3 = 0 and 6x + 3y + 8 = 0 are perpendicular.

Find the angle of elevation of the top of a tower from a point on the ground, which is 30m
away from the foot of a tower of height 10 /3 m.

If the total surface area of a cone of radius 7cm is 704cm?, then find its slant height.

If the ratio of radii of two spheres is 4 : 7, find the radio of their volumes.

The standard deviation and mean of a data are 6.5 and 12.5 respectively. Find the coefficient
of variation,

What is the probability that a leap year selected at random will contain 53 Saturdays.

kg 1
Prove that sin" 0+—_ =1
l+tan™ @

Answer any 10 questions. Question No. 42 is compulsory, 10X5=50

Let f : A—>B be a function defined by f(x} = ¥ - 1, wheir e {2,4,6,10,12}%,

B={0,1,2,4,5,9} represent f by E

i) set of ordered pairs ii) atable iii) an arrow diagram iv) a graph.

IFf(x) =2x + 3, g (x) = 1-2x, h(x) = 3x. Prove that fo(goh) = (fog)oh.

The product of three consecutive terms of a Geometric progression is 343 and their sum is

91/3. Find the three terms.

Find the sum of. 62 + 72 + 82 4+ ... ... S

IfOx* + 12x3 + 28x2 + ax + b is a perfect square, find the values of a and b.

A passenger train takes 1 hour more than an express train to travel a distance of 240km
from Chennai to Virudhachalam. The speed of passenger train is less than that of an

express train by 20km per hour. Find the average speed of both the trains.
4 -

Gy i .y

Tad ) T 62
= B= = | - - -
1f (_1 3), L 2/!, iz ) verify that A(B + C) = AB + AC.

State and prove Angle bisector theorem.

If the points A(-3,a), B(a,b) and C (4,-5) are Collinear and ifa + b = 1, then find a and b.
Find the equation of the perpendicular bisector of the line joing the points A(-4, 2) and
B (6, -4).

From the top of @ 12m high building, the angle of elevation of the top of a cable tower is
60° and the angle of depression of its foot is 30°. Determine the height of the tower.

A metallic sphere of radius 16cm is melted and recast into small spheres each of radius
2cm. How many small spheres can be obtained?

A teacher asked the students to complete 60 pages of a record note book. Eight students
have completed only 32,35,37, 30, 33, 36, 35 and 37 pages. Find the standard deviation
of the pages completed by them.

Two dice are thrown simultaneously. Find the probability of getting.

i) Sum of the face value as 10. ii) an even prime number on the first die.

iii) an even prime number on the second die. iv) Same number on both dice.

Answer both questions. 2X8=16
a) Construct a triangle similar to a given triangle PQR with its sides equal to 3/5 of the

corresponding sides of the triangle PQR (scale factor 3/5 <1) (OR)
b) Take a point which is 11cm away from the centre of a circle of radius 4cm and draw the
two tangents to the circle from that point.
a) A company initially started with 40 workers to complete the work by 150 days, later it
decided to fasten up the work increasing the number of workers as shown below.

No. of workers (x) 40 50 60 75 :

No. of days (y) 150 DG 100 .- 80
i) Graph the above data and identify the type of variation.
ii) From the graph, find the numbers of days required to complete the work if the company
decides to opt for 120 workers? :
iii) If the work has to be completed by 200 days, how many workers are required? (OR)

b) Draw the graph of : (2x - 3) (x+2) =0
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